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While buying a dealer get x % more and

while selling he gives 20% less further
he mark up by 20% his goods if he earns
a profit of 50% find x.

Ud qHMGR @ded ddd x% J&d grd
&A1 ® a7 99d 99d 20% HH qdl & al
dfed qoa 20% e 3ifda dxar 2 an
50% &1 AT HATAT & df x ST A9 ST |

(a) 25 (b) 20

(c) 10 % 0 @
4 \Nh't: DN
A



/RNA shopkeeper get 5% more at the time
® of buying and give x% less at time of

selling and he markup his goods by
14. 28{ ghe earned a profit of _100%.

Find x.
Coo Ud THMGR @ded d9d 5% e oddr &
_\Ya/. @ aT 49d 99d x% H¥ <dl = qdT Afed o
14.28% 3ferd Y@l & df 9 100% &I

@;r AT BHAT @ x $T °919 gaian |
X 100 ys&.z (a) 60 (b) 50

RO LT [T 425
3002 SVO-$N  SHe W
A=Yo




0
@ C.? mP A trader earns 20% profit even after

allowing 30% discount. MinimuWw
much % does his balance weighs hthan

what it should weighs.

Ud IR 30% $I BT I Hl 20% I
j.*.:m-ccv- A B e 21 Y B Rre gue
1R dl W& a9 4 fha1 % b o

qrfed |
Tolon - & wdmeme s
T E— e .67% %
W) &

3 FN=Reny -\ 12An=Swo '7k=5.5“£®



]QW A trader has a faulty balance that
weighs 20% less than what it should

\(ND |6°weigh. If he want’s to earn 30% profit

while marking up the price of the goods

B...'o ;\0‘10 by 20% maximum how much percentage
discount can he offer.

_!1‘“,6' Ud IR &I X1 Hal a9 4 20% A

Ao qol< dieldl & If¢ 98 30% &1 T HHTT

329

qredr @ a1 Jfed Jea Bl 20% 3Iferd

TQ? dfbd &xar & o Aftrdan fear gfaea se
98 ] 9l 2 |
) 13.33 (b) 16.67

@

(c) 22.22 (d) 25



If a commission of 10 % is given on the
marked price of a book the publisher

3 H gains 20%. If the commission is
Y- IR0

increased to 15% the gain of publisher

89— 340 s,
ﬂ— Ife q&ad & 3ifdd Jed T 10% BT HHIA
fear Smar 2 dl 9sieied Bl 20% BT ATH

-
(% % gar @ I sfeE # 15% wer faar

al UYBTTd BT T Yfaerd s
) 13.33% (b) 15%

@) 18% (d) CND

| .



® 700 A trader has a faulty balance that

J weighs 30% less than what it should
jw 63 O weigh further he marks up the price of

q the goods by _16.67% and then he offers

WO"‘ a discount of 10% on the marked price
S what is the profit %.

Ud FPHMQR &I aRI9 Fal 9o 4 30% 4

@ 3 q diddl @ dUT 98 3fded qea 16.67%
ﬁxia |m$ﬁﬁrm%mwﬁﬁw10%
X 600

®T BC <dl & dl o yfaerd qar

(a) 18.8% br50%
‘O‘,JC) 16.67% ld' 35%
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On selling an article for Rs 576 a trader

1
losses 4%. In order to gain 4E°/n he

must sell that article for.

U 9K dl 576 ©Ud # dH1 W 4% Bl
I gl 4%%$rwmﬁa%ﬁ‘w

a¥q Bl 9T B
(a) 636 (b) 676
J#) 625 (d) CND



A shopkeeper uses a weight of 460 g
instead of 500 g and sells the articles at
the cost price what is profit percentage.
Ud GHMGR 500 g &l W8 460g &I dIc
YT Yal & a1 SUBT ard gfaera qarei

(a) 40% (b) 23%
g1, d) 1029
23 23



A trader uses a weight of 920 gm
instead of 1 kg and sells articles at the
MP which is E/n above the cost price
find profit %.

Udh qghHaR 1 kg @I g 920gm &I d1C

WAATA HXAT & a1 I¥q3l &1 3Afba qou

G?ﬁsamwﬁ 15% 3Jfrd 2 WX d%dl =
dal A gfaerd gansi

(a)ZO%

(b) 28%




A certain quantity of rice was boh#or
o 4 l:_- 390_,320 Rs x and sold for Rs y, there by earned a

rofit of 25%\ Had the cost price been
sf 9 o0 l-\%"g

0% less and the selling price been_58
\ 33“ less, a profit of 20% would have been
earned find the value of x.
grdel &1 TP Frefad 93 © x @O 1 SR

16— 58 y H dd61 T3 a8 25% &1 @™ fsia feani

\100-—)'.200 afs $9 oI 20% A BAT 3R Apa g
58 &4 BIidl, dl 20% &T o9 3rfofa & o x

& 919 ATd B |

vf) 200 (b) 400
@c) 250 (d) 300



$. l */ 1-5‘(-60 The cost price of articles A and B are
the same. A is sold at 20% profit,
. ©fwhereas B is sold for Rs 54.60 more

87/

than the selling price of A. if the overall
' , profit earned on selling A and B is 28%,

then what is the cost price of each
%" article.

/. —SY.60 & T AR BF HA A WA & A BT
“/ qGOZO%EITHtI‘-{a‘?{TTmTIWﬁ?BﬁA$
1007.~ ij_ﬁmwﬁ 54.60 e R «4GT AT Ife

A IR B & 4910 W & JTHI 28% & dl

Udd BT HA Yoo BIT7
@ X 348/ ib) 345 ¥
el 341.25/ (d) 342.75 \0



Joseph bought two woolen Jackets for
Rs 2100 and Rs 3150 respectively. By
selling the first at a gain of k% and the
second at a loss of k% he found that the
selling price of both is the same what is
the value of k.

SE® 1 g Sl Slde HAI: 2100 YA AR
3150 ¥4 # @] | U8 oldc &l k% o™
W 3R g WdT & k% &1 BT R d9a%
99 91d g3 & g &1 fawa e wae 2@

k &T SITd BN |
WAL 20@ (b) 22.64
(c) 15 (d) 25




When an article is sold for 1188, the
percentage profit earned is x%. when it

QSV —?Z‘I?SD is sold for Rs 1435.50, then the

. percentage profit is (x+25)%. What is the
lool - 930 value of x?

od BI3 a¥g ®9d 1188 # 941 T Al x%
AT YT BT W9 YE d%q 143550 BUA A
It g, @ ufowa ™ (x+25)% B X BT

e ST B
(a) 18 (b) 15
L) 20 (d) 10

©



Sf Two items are sold for Rs 18602 each.
sm On, one item there has been a gain 31%
and on the second item a loss of 29 %

\3|A= H 6 what was the overall loss or gain is the
A transaction.

___-7" _—3.?? Ot TER TS © 18602 ¥ I T TH axq
6 '3‘ U¥ 31% A9 Bl & 3R Ol 9% R 29%
-Q,/S’ﬁ%ﬁﬁﬁﬁ?ﬁgﬁtﬁﬁﬂ—?}?rﬁ@aﬁﬁﬁ
yfoera @ gamm rerar g1 g3
- l 5q8 (a) 7.91% loss m 8.25% loss

—_"‘?0 ? Q (c) 8.25 % pm« (d) 7.91% 1:.1-.::nmK




The difference between the selling price
of some article if sold for Rs 12 per
| $o — 50 article instead of Rs 9 per article is 150.
If the cost price o?fﬁese article is Rs
250 then find the selling price of 21

?
article if profit is earned 20%.

-Qs_-g 5 oUd 9 Ufd 9% & WE W 12 $9d Ufd a¥q
B R W IR TR 7B IXgI @ fawy g
) & 49 Jav wud 150 B | AfX 39 IEG3;AT B
6X‘Q| Ha Yed 250 B9 ®©, al Afe Afsfa am
20% & ol 21 X3 &1 fabd Jeu Frd

udf 126 (b) 136

(c) 125 (d) 130




\—> R0 An article is sold for Rs x. If it is sold at

3—5 Q‘]o 33%% of this price, there is a loss of

20% what is the percentage profit when
it is sold for Rs x?
U6 d% %98 x # 9 oireht 2 afe s«

aﬂﬂﬁa%as%%waﬁﬁmwﬁ.a?

20% $I BT BIdl 8, 919 39 x UX &4 SIdl
2 dl oy gfaera & 27

JA 140 @ (b) 125
(c) 130 (d) 120



A person purchased a vehicle for Rs

5,90,828 and sold it for 652920, what is
the profit percent he earned on this

6 Q o) ﬂq. vehicle.

Ue Afed 7 Ud 49184 % 5,90,828 ¥ @Gl
59032 IR 99 ® 652920 # 99 AT W AT W
Su+ fea+ gfaera o $9mr |

e 10.51% (b) 9.55%
(c) 9.51% 11.55%




A person sold a chair at a profit of 13%
has he sold it for Rs 607.50 more he
would have gained x%. If the cost price

of the chair is 3750, then the value of x
is

e el 4 th §df 13% @ @M W 491
gfe 991 39 % 607.50 3f&& Hou WR 491
gl dl 99 x% o gldar = afe gl &) arra
3750 2, Al x &T A9 &1 BI?

(a) 30 (b) 32

(c) 28.4 JHr29.2




A shopkeeper offers discount of 28% on
the marked price of an item and thus
ends up selling at cost price. By what
percentage is the marked price greater
than the cost price?

Ud garFeR fedl 96 @ 3ifdd a1 W
28% @ BT UM Al 2 IR FA YBR
ANTd Hod W 9% &1 fa@! &ar 2 | darrd
T ¥ Jifed qeu feas ufoea aftre @72

(a) 18.25% (b) 22%
\J4) 38.88% (d) 29%

©




QP S? The selling price of an article is 80% of

its cost price. If the cost price is
lm %O 1Q creased by 12% and the selling price
"2 Iao \Q'ls increased by 25%. What will be the
percentage increase/decrease in loss
9 with respect to the earlier loss.
2 DY0/es o o1 Rwa g1 sw@ A a1 80%
<o g | IfE drra qoa # 12% a1 fad) g &l
25% deT fogr mar 2 al ugd @ @ @
weg 7 g 7 feaa % qfg /& gl
(a) 9% increase (b) 18% increae
(c) 20% decrease \(9!40% decrease
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A dis‘mest dealer markup the price of
his goods by 20% and gives a discount

of 10% to the customer. Besides he also

=% heats both his supplier and buyer by

Ly

8B 337

oo

€ ¥, Al x
V.51 Cc

100 gm while buying or selling 1 kg find
the % profit.

UH 4399 AR G- TG TR 20% HA
Jftred 3ifbd dxar 2 | AT 10% &1 e adl
g IR 98 @idcd aor dbd wag H ufy 1
kg UX 100 gm @I 431 HIAT & dl SHBI

oy gfaera g |

(a) 20% (b) 25%
32% @ (d) 27.5%
H¢ Q2.




A dis.'giest dealer markup the price of
his goods by 20% and gives a discount
of 10% to the customer. Besides he also
cheats both his supplier and buyer by

100 gm while buying or selling 1 kg find
the % pl'(lfit.

UH d3AF AU AT IEE IR 20% A
Aferd ifhd dvar 21 AT 10% 1 ge adl
g 3X 98 @digd a1 dbd 99 Hf gfa 1

kg UX 100 gm &I 4341 HIdl & dl SADI

A gfrerd g NN
(a) 20% b) 25% | w\)

Us¥32% (d) 27.5%




A flat a piece of land were bought by two
friends at price 2 lakh and 2.2 lakh. The
A o= =)
price of flat rise by 20% every year and
that of land by 10% every year. After
two year they exchange the possession.
What is the percentage gain of the
" e —
gainer.

Uh Yoic 9T oHIE REa! #Fd 2 a9 3R
22 TG B 99 & TIEd @ed & X @I
®Wd A & 9Td 20% @) gfg sidl @ qen
SiHIF @ ®Ed ¥ 10% 4 Sl g1 9T 914
AT AfTHR 95l odd = df orH UTd HeA

drel T Y % FIT 2 |
(a) 7.56% (b) 6.36%

(c) 4.39% @' None of these




A fruit seller purchases mangoes for Rs
425 per hundred and sells them at Rs
er dozen. He buys apples at Rs 150
.é&--’ hundred and sells them at Rs 30 per
dozen, he buys watermelons at Rs 1800
per hundred and sells them at Rs 360
per dozen. Which of the three fruits
gives him maximum profit and what %.
“%7dﬁaﬁn4zswﬁnﬁﬁwaﬁﬁﬁ
EEdr & 9T ®© 65 WA qoid d=9ar 2 |
dAT 98 949 &I 150 vU9d Ufad dAdhsT @dedl

g a7 & 30 Ufd gof< d9ar @ 3R avge &)
1800 gfar Vst @l<ar & a=m 360 vud ufa
gold 49d1 2 | df SS9 $I9 AT Bl SATST oTH
yforera qar 2 3R fear % |

(a) Mangoes (b) Apples

(c) Watermelons Nef Both b and ¢ ““‘







‘The cost price of an article x and y is
\I the same. Article x is sold at 20% profit

|0 and article y is sold for Rs 126 less than
the selling price of x. If the net profit by

08 selling both the article is 14% then what

is cost price of each articles.
lo-$ Gl 9% x AR y & T oI G 2 | 9K
12—13¢ x B 20% AN W I y B x B (A5

|00-,|°§0 1 | 126 &9 # <91 TAT| A < aEqaAl
4919 W AW 14% =, @ TAS qx BT Y

@ (a) 1080 (b) 840
U#f 1050 (d) 1260
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The cost price of two articles A and B is
the same. Articles a is sold at a loss of
24% and article B is sold for Rs 270

lling price of A. If the

lﬁ rofit by selling both the article is
12%

hen what is the selling price in Rs
of article B

<l a¢§aT.A.3ﬁ¥:B BT HI Y A o |
%] A DI 24% BT R 9% B &I A &
fassa Hea 4 270 U JfSred d d41 TCAT © |
gfe <4l 9ger &1 494 W fad am 12%

g, dl B & faa qea foa-m 87
(b) 575 =Y 1:{,
\ \

(c) 645 (d) 610



Bay 11 get 3 free + 12.5% additional
discount will result in

11 963 B @S W 4 Bl dAT 12.5% DI
JfaRad B 39 W thd AR 8 fi?
(a) 32.5% (b) 31.25%

c) 36.33% (d) 30.34%

31'\ IS

_';F‘"




After a discount of q% on MP a trader

gains by p%. What is the markup % over
the CP.

3fhd eI W q% @ 8 & ddyc H ($
AT &1 p% BT T BIdT & FTd PIY
94 B Yed 9 fodn % fers qeu sifea

) 279 100
100 + p

(d) P~9 100
100+p



A shopkeeper marks his goods up by

‘? ‘145.45“} and after a discount of on MP. If
|

the SP after the discount results in no

|6 Mf) profit no loss. What was the % discount

offere by shopkeeper.
Uh THMER a&] &1 Yo 4545% daT $Y
difed dyar 2 3R WD 91 BT YSE Hdl
e, B¢ @ qIg Ife Iffom fasva fea w 4=
S__%\, ¢ F @ am Ak 7@ ef @ A s
1€ gHMER fhad % P B 2ar 2|
(a) 37.5% (b) 54.54%
el 31.25% (d) 27.5%



Which offer is best for customer.
=1 4 9 &9 91 fadcy yed @ v Saw
B

(I) successive discount of 30% and 20%.
(IT) successive discount of 4Q% and 10%.
(II) successive discount of 25% and 25%.

(a) Ist offer v‘ﬂ‘d offer
(c) 3™ offer (d) alLare equal

TN
M \R
v QM'DN;\LU;T




The difference between successive
discount of 40% followed by 30% and

45% followed by 20%. On the marked
price of an article is Rs 12. The marked

price of the am

2 HANTA B 40% AR 30% AT 45% 3R
20% $T X Rs 12 & O a%] &1 A Jcu

ST |
(a) 800 (b) 400
(c) 200 (d) 600

Yo +30-WWdo
‘W



50 successive discount of 2% 4% 6% 8%
and so on will result in a single discount

of.
50 $HARTd BC HAM: 2% 4% 6% 8% B
X164} YHTd Ul BT STd N |
(a) 150% (b) 250%
100% (d) 50%

Xwr6er... ..\

©



A shopkeeper promised to sells his
goods at CP but he used a false weight
of some gm instead of 945 gm and he
gains by 26%. Find false weight?

J%xw U GHMQR AU I3 B HT oI W
—> 350 3o @1 qrar Hvar & AfeT 98 945 U B
WM R §8 HH 9o &I YINT Sl = dl
50 R R W ¥ 26% b1 am @ o @ ab
SITd B A 945 YW P Wie fHha-r qoq

g fearn)
(a) 800 gm WA 750 gm@

(c) 900 gm (d) 700 gm







